Mixed Operations with Brackets

Name: Class:

Calculate each of the following

(2 x 16) x (120 + 144) =

(935+187)x (2x 15) = 215-176)x (6x4) =
(153 + 847)+ (24 + 16) = (700 +2) = (19-12) =
(812 +292) + (50 - 38) = (166 + 626) ~ (24 + 3) =
(4x15)x(155-123) = (25 5) x (200 - 132) =
(299 -165)x (35 +7) = (545 -399) x (3 x18) =
(2x 1,505) + (31 + 12) = (5 x 700) = (15 +35) =
(377 +123) + (80 + 4) = (188 +772) + (3x 5) =
(453 -384)x (16 x2) = (66 - 23) x (200 - 99) =
(64 +8)x (12+61) = (2x2,210) = (15 +37) =
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Answers

Calculate each of the following

(2 x 16) x (120 + 144) =8.,448

935+ 187)x (2x 15) = 150

(153 + 847)+ (24 +16)= 25

(812 +292) = (50 -38)= 92

(4x 15)x (155-123) = 1,920

(299-165)x (35+7) = 670

(2x 1,505) = (31 +12)= 70

(377 +123) = (80 + 4)= 25

(453 -384) x (16 x 2) = 2,208

64+8)x (12+61) = 584

215-176)x (6 x4) = 936

(700 =2) = (19-12) = 50

(166 +626) ~ (24 +3)= 99

(25 x 5) x (200 - 132) = 8,500

(545 -399) x (3 x18) = 7,884

(5x700)+ (15+35) = 70

(188 +772) = (3x5) = 64

(66 - 23) x (200 - 99) = 4,343

(2x2210)+(15+37)= 85
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